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Examination 2022

[Roll Number

Candidate Name

\Venue Name Jaipur Engineering College
Exam Date 10/11/2022

Exam Time 12:30 PM - 2:30 PM
Subject SICPO Paper | 2022

Section : General Intelligence and Reasoning

Q.1 ffafea & @ s den & 1€ g # uyars fug (2) &1 e afe

55, 75, 100, 135, 190, ?
Ans X 1.280

% 2.290
o 3.285
X 4.295

Question ID : 26433057333

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.2 & TS yRae B R B & T PH-1 3iR-T9g Y {IF () Bt wfoamia sem?
PORK, NQPM, LSNO, JULQ, ?

Ans 1. HWJS
X 2. HXJS
< 3. HWKR
< 4. HXKS

Question ID : 26433055245
Status : Answered
Chosen Option : 1

Q3 g+ Praf -, x BT 3+ 8, - P13 = B, + P71 31 x B, N UY-RE () FPRARAN
3TTT?
89%x36-9+2+11=7
Ans o 1.71
X 2.79
X 3.83

X 4.92

Question ID : 26433068120
Status : Answered
Chosen Option : 1




04 g At v R BEI X E CHa Y DA L E A
ToaT g # '?' % T W T HTE?

48D12A (V36 B3)C19A24 =?
Ans o 1. 27

X 2 35

50331

X 4.22

Question ID : 26433057628
Status : Answered
Chosen Option : 1

Q5 & ¢ ol F wet odur ufafde &1 9ue T ow gdor @t Y@ MN
R IG Il & ol b femmn gl

M

L
]

Ans

x 1.

Question ID : 26433055743
Status : Answered
Chosen Option : 2




Q6 g S Bl FEid SHioal & SFER 18T 3R 1T 9l & | Wiel o W 48 $HYT fa@rs o

o le |
_______________ o |
(I
Ans O O T |
O O
PGB Q O o
o)
ooo
Oo Oo
OO
2l oo
0 O
@) @)
0 O
Oo O0
X 3.
O O
0
@) oo
O @)
oO OO
X 4.
O @)
0 O
O ©

Question ID : 26433066206

Status : Answered

Chosen Option : 2




Q7 FETST F TF THS HT AlGA H FA AN AR AT FETA H Fed H
T A= ST T B 3H A T TuS A FE H e W

Ans

3HS G T @ WY 3OS A Ferdr gem

o 4.

VIR AN TN R
N INA AR R R

Question ID : 26433067459
Status : Answered
Chosen Option : 4




Q.8

Ans

39 3MPpia & 99 i, s Feafafa smpfa guer & mr e

&

x 1.

<2

5
|

] 3 1 [

Question ID : 26433090222
Status : Answered
Chosen Option : 3

Q.9 1 U T A e aerT R fawrs T E, o . Bael @1 1 9§ 6 a9 Ssiied T T | 9 S E

Ans

T 63, Sl 2 FI 2 a1 B & AU Bad W ghh|

4

w

X 1.1
X 2.3

&35

X4 6

2

4

Question ID : 26433058067
Status : Answered
Chosen Option : 3




Q10 g -Braf+ 8, xBTS 2§, + BT A - §, + P1 3f x @, N Uy-FE (7) FPRA R AN

Ans

3MET?
32+36x4-21+56=7

o 1.253
X 2.323
X 3.276
X 4.283

Question ID : 26433068116
Status : Answered
Chosen Option : 1

Q.M Y HYA F a1g 7 Frewd 1, 1 3R 1 Ry T §1 Fu @) Fw wrd g, va € a9
FU {9 af A g wdia g g, g Fofa difve e SR freed syt &1 arfde

TY H SFTIARVT BT 3/Hd B
DY ]
wt e Hfeai &1
Tt Wit wfeat g
forepd
1. $O 3 W& g1
Il T Hfeal a7
. $o °feat AN g1
Ans o 1. Y |1 SR 111 ST STRRT R B
X 2. e | SR 11 ST SR Hvd €
X 3. FBY 1, 11 3R 111 SR $Rd B
X 4. frepdf | 3R 111 S SRR AR B
Question ID : 26433056063
Status : Answered
Chosen Option : 1
Q.12 ‘B &D' ®T3f B 'B, D BT HS &'

Ans

BxD'PTHSE'B,DBIATE I

‘B#D ®T3f §'B, DB T &'

'B$D ST 'B, DB’

B@D PTASE'B,DBIATE

frufifea oiee & B, G ¥ 5 ToR Fdfta g2
AxB#F$C@E#G

X 1.3t

X 2. W5

7< 3.4

o 4. TA & UTS BT Uit

Question ID : 26433057299
Status : Answered
Chosen Option : 4




Q13 7 Iy 1 Taa AT A & T HgEer F veT ET (2) F

TATT 9T 3T

.%9 '®f 6%. ?

Ans

- 4 @#

Question ID : 26433070433

Status : Answered

Chosen Option : 1

Q.14 IH eg-g BT 79 B red 3 wreg St v Wit § o v Rew e g A § wieg
I

waftra §
R : S

Ans  p 1 TS : TERITR
X 2. AynaEl : WEE
X 3.g@: g
X 4.0 : W6

Question ID : 26433082756

Status : Answered

Chosen Option : 3




Q.15 m#wgﬁ_ﬂmﬁﬂmsﬁ?ﬁmaﬁ#ﬁgﬁgmaﬁr
FeT T ¢, 30 TAeAtei@d dpiad # @ e g e Im W Tg
FEST FaT T@e?

30

Ans

Qoo
JOJ0

Qo@O
00RO

Og@o
oQEIO
0030
000

Question ID
Status

Chosen Option :

: 26433068395
: Answered
3

Q.16 [ AR A, B, C, D, E, F 3R G It Ui & IR &t 3k g #3d 3 &1 ¢ F 18 3R
AA N ARSI T A R B H AA AT G AR ISd &1 B, AP IS IR IGATRIE, AP
Bt T aTE 3R THIURY § | 71 U AfRT D F a1S 3R 98aT1 81 F, B & 319 Ui qHiu=y
T 81 P H P19 doa1 8?2

Ans X 1.E
X 2cC
X 3.D
o 4. A
Question ID
Status

Chosen Option :

: 26433055889
: Answered
4




Q17 I TG P TG P, R Tt 3t e Wafta €, iR o o e ag=g &Y
T=ATE MUy § Haflrd €1
(Fite: T=mat &) Iqd ed 3wl A faurfora frg famm, gof wensi wr nfordig dfesart «t
ST Wbt 81 ISTER01 F AT 13 - WM 13 W Oreg wipand 9 {6 SrsanaeAmon
AT 3 BT 13 TR Y fhar ST et 2113 B 1 3R 3 # fyuTia &3 3R fhe 1 3w 3
wnﬁl?ﬁummﬁaﬁamﬁqﬁ%l)

(7, 12, 25)
(6,9, 21)

Ans X 1. (9,13, 24)
o 2.(5,8,19)
X 3. (4,11, 20)
X 4. (8,14, 24)

Question ID : 26433057074
Status : Not Answered
Chosen Option : --

Q.18 I faepeu &1 Iu &Y, St 39 &R} &1 ufafifira ®war g, ot Rad = § sfe w0

mﬁm@aﬁwaﬂs‘a{mmaﬁwaﬁm
_SJ_PS__P_JA_S_

Ans X 1.PASASPJ
& 2.PAJASPJ
X 3. PAJSAPJ
X 4PAAJSPA

Question ID : 26433056777
Status : Answered
Chosen Option : 3

Q.19 T% el 3va g | 25 m IWR-Yd P 3R Id1 & | ST 91¢ T€ & Gl € 3R 7 m Pt
gﬁm%%lmﬁ,wﬂm%sﬁ?nmaﬁmwém&ﬁaﬁmmﬁ
?

Ans X 1.7d
X 2. FW-ulEyg
X 3. IRy
o 4. SfeuufEm

Question ID : 26433057305
Status : Answered
Chosen Option : 4




Q.20

Ans

T FETS @ A gRlT AT HFER AT 3R Fer AT g

o W AE w1 wrg &=m?

Question ID : 26433057534
Status : Answered
Chosen Option : 2

Q.21 fafafea & @ Hi-w W & w$ year § vy g (2) F ®E w snwtt?

Ans

101, 182, 118, 167, ?
X 1.156

o 2.131
X 3.128
X 4.142

Question ID : 26433067635
Status : Not Answered
Chosen Option : --




Q.22 ts fAf¥a ge utar § "JAccUZI' #Y 'KzDBVYJ' firar SiTaT 8 8% 'QUIZZER' Ht
"RTJYADS' foraT SITaT 21 S HTOT § 'BUZZWIG' &Y $& ferr siem?

Ans X 1.ZTAXJHH
< 2. ZVAAXIK
/< 3.DVBYYN
" 4. CTAYXHH

Question ID : 26433056563
Status : Not Answered
Chosen Option : --

Q.23 fpeft HIs UTIT H 'you can start’ B 'sent room dark’ & ¥ # feraT S g, 'can you
read’ &Y 'room sent less' & =0 § foraT wrar % 3R 'you are good’ Ea| 'tyre room spin’ *
=u ¥ foram orar 81 33 | # ‘can' Ysg & R 1 BIS @2

Ans X 1. dark
X 2. room
«" 3. sent

& 4. spin

Question ID : 26433056270
Status : Answered
Chosen Option : 2

Q2 aRparorf o 3, QET o o B R BT+ B, iR s T a3f e Bl

fFafaRad gHieor § ' & R UR 341 AT
115Q23RY64S3P9R44 =7
Ans X 1. 32
X 2. 28
o 3. 26
X4 24

Question ID : 26433057623
Status : Answered
Chosen Option : 3

Q.25 3: g U 1,2, 3,4,5, X6 TSI @AR 81 1 M 5 1S 51 6, 5B a5 51 3,1 F firem
F UTS BT 3halal I 81 2 3R 4, 3 F a1 & soaia uig ®1 Afewi €1 4, 1 AP veR
et g2

Ans X1 TEIT

X 2. TR W /aeT
< 3. Yttt
o 4. 5

Question ID : 26433069180
Status : Answered
Chosen Option : 4




Q.26 gt HYl & 91 <1 frewd 1 3R 11 fT 7T &1 FY= 31 TG WA g, A & 3 I T F
a9 | i udfia g1a 8, g8 fofa e f oi9-a1 frepd sy=l &1 aifbe w0 @
STIRT BT 2/ &

DY
TS OFP T 8l
g ot T g T R

s
1. Tt 313 B B
1. B ot 3rgT BFBT AR B
Ans X 1. bad FIShY || SER0 AT B
X 2. Fad Y | SR FHRaT 7
o 3. 713 TS | 3R 7 &Y 11 SR FHora B
X 4. Ty | 3R 11 QT SR AR B

Question ID : 26433056057
Status : Answered
Chosen Option : 1

Q.27 3 fawey &1 g9 P, SRyt urad sigR-uqg A S a8t Ay 8, o) ey ga 3HER-

TYE T U H&R-TYE | § R T8 Ty Y 3&R-TYE BT RN H&R-TTE A 8
LIST: JNGKQURY :: MOAN: KOMQYCLP :: PLUM: ?

Ans X 1.NRINKOSW
% 2. NRSWKOJN
X 3. NRSWJINKO
o 4. NRINSWKO

Question ID : 26433056281
Status : Not Answered
Chosen Option : --

Q.28 3Ieh quiTen wu A fRUfA & snuR W, Fafafaa & @ = ser-wwe fh 7 feft vor
A TP UM g 3R P e 81 R 31eR-1gg &1 999 33|
Ans X 1.FIMP

X 2. BEIL
X 3.LOSV
o 4. IMPT

Question ID : 26433065655
Status : Answered
Chosen Option : 4

Q.29 3w 7T FfieRur F1 g T (@gied $9) & g foee gt ivrdta fgl &t emoa ®
T g2
12+ 156 + 13 x 6 - 100 = 50

Ans X 1.-3Rx
¥2_+SﬁTx
X 3.+ 3R x
X 4.+ 3R-

Question ID : 26433059954
Status : Answered
Chosen Option : 2




Q.30 39 BT I PIoTE o Femd 3o & 3¢t werR Taifta € oy weR fRufafaa
ag:%?;wmemﬁmﬁa%l@e TErelf 1 ST gew 3! A o fpu
o, ot wemsit wR nfordta ftrang 6t st wiftu) SeeRur & fre 13 - nfvrdg d@farg
ﬁ%%vﬁﬁmrgmmmﬁwﬁﬁmmm%nsﬁwﬁ?sﬁﬁmﬁﬁ

FA1 3R b 1 3R 3 W TR wfpaTd w= 3t srgafa T8 81)
(14, 25, 38)
(8,19, 32)

Ans X 1.(24, 35, 46)
X 2.(13,26,37)
X 3.(15, 28, 41)
o 4.(6,17, 30)

Question ID : 26433057443
Status : Answered
Chosen Option : 4

Q.31 gfg A P13 '+ §, B &1 31 'x* §, € b1 31 ' § 3R D @1 31f '+ B, o) Frufeifaa st &1
T =T g2
456 C236D2A 14 B 1

Ans X 1.453
X 2.353
o 3.352
X 4.234

Question ID : 26433068696
Status : Answered
Chosen Option : 3

Q32 gdor & R & R@T 3ER MN | @ oo W, & & Apha & T
g9ur gfafees &7 =9aF L

M

78HCZSTS@

N

Ans X 1. @S1SZOH8L
+ 2. @ZTeSIHBY
X 3. DS1SZOHSL

X 4 D2TeSOH8Y

Question ID : 26433068729
Status : Answered
Chosen Option : 2




Q.33 Gt wyAt & a1g FiF fsed 1, 18R 1 i e ¥ 1 w9 I wd T, Wa 8 3 9
=7 A 71d 9@ & e vl gia g, g ot <fifsre i Sia-a1R freed su=l &1 difee
TY F SFTIARVT BT 3/Hd B 1
HYT
I aTIaE
g iR §
fored
LFS AT AT

1. F4 &1 4R €1
. 3 9 IR &

Ans o 1. Y | SR 111 ST SERT R B
X 2. e 11 SR 111 G SR Rl
X 3. FBE 1, 11 3R 111 SR $7d B
X 4. Frpe | 3R 11 Y SFgERO R B

Question ID : 26433056061
Status : Answered
Chosen Option : 1

Q.34 IH WYY FT 999 B, s semt St yer w6t §, e vor g 7 wy=a #
A o e 1 |
([Are: FeTsi $Y IuP gew P! A fyurfora fg o, gof st w wftrdta wfsart #
ST HHdl ¥ 1 ISTERVT & fIT 13 - T@ 13 TR nfordty wfsrand St fr sigAngerAgon
BT 3M1S BT 13 TR B1 0 o wpar 8113 BT 1 3R 3 & Ryvifora w1 ok fe 1 9k 3
TR TRt JifSraTt s Y srgafa T8 B1)

2,28, 4
53,22,23

Ans 7 1. (4,31,3)
X 2. (6,29,3)
% 3. (1,10, 5)
X 4.(7,32,2)

Question ID : 26433057096
Status : Not Answered
Chosen Option : --

Q.35 T® fAf¥a @ YT #, 'VACCINE' ) 'WCFGNTL' & =1 ¥ f3rar wIrar @ 3R 'SYRINGE® &1
"TAUMSML' & ¥ ¥ forar Sirar g1 It 4TuT & 'NEEDLE' &) frd UeR forar simem?

Ans X 1. OGHHRK
X 2. OFHHQK
< 3. OGHJQK
o 4. OGHHQK

Question ID : 26433056376
Status : Answered
Chosen Option : 4

Q.36 * fugl ® PATTAR wfawfia $ ok g TE witero ot w@gfera #3 & fog wlndta
gt & W waeE &1 9aE H
355 * (12 * 3) * 289 * (186 * 6) * 71

Ans X 1.+ - =+ %

Question ID : 26433057660

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.37 fpeft HIs UIUT H 'TRUCKS' BT ‘GIFXPH’ & TT ¥ foraT SITdT @ 8fR ‘WASTE’ &1 ‘DZHGV’
& =0 ¥ forar Sirar 2 1 S HIHT § 'FANTASY' &) fhg yoR ferar siem?

Ans X 1.UZGMZHB
X 2. UZMGHZB
«” 3. UZMGZHB
X 4.UZMZGHB

Question ID : 26433056262
Status : Answered
Chosen Option : 3

Q.38 faw 7Y fawen ® 9 98 &= g, s Fafefad o § uy-RE (2) S afawifig +
-\;223, 2,108, 149, 199
Ans # 1.76
X279
X372
X 4.81

Question ID : 26433057027
Status : Not Answered
Chosen Option : --

Q.39 g-mﬁwuﬁamﬁafﬁﬁWquW%ﬁw%awmmﬁ
2

1 Pelvic

2 Pentagon
3 Permanent
4 Persistent
5 Perceive

Ans X 1.12345
o 21,2534
X 3.13245
X 4.12435

Question ID : 26433069259
Status : Answered
Chosen Option : 2

Q.40 3 fapey BT a9+ PR ot 1T T wrea) & 39 4 H) gxifar & orT wa & F 3iish
YA A T
1.Tattoo
2.Tatters
3.Tatting
4.Tattle
5.Taut

Ans X 1.4,5/1,2,3
X 254,321
X 3.2,4,5,3,1
o 4.2,3,4,1,5

Question ID : 26433067235
Status : Answered
Chosen Option : 4




Q41 i HY= 3R 3P 91¢ IR Frspd HHiw 1, 2, 3 3R 4 f3T 7T &1 HY= H W@ WA g,
Y3 €1 3 I w0 R 71 a2t I P welta g g, fRofa % fp #a ar frsed arfde
FY Y BYA BT ST & AT 8

DY

Ik, s gl

@s W s, B TR 81
$O B, TR

farep:

1) @S i K, B T ?1
2)$B T, ST R

3) O T,B Tl

4) 9t B & K 819 F YU 7|

Ans o 1. Had FIHd 4 SFTERO T HRAT R
X 2. Fad ey 2 IR T HRaT B
X 3. Paq Freed 3 SR T BT B
X 4. HId e 1 TR TS HRAT B |

Question ID : 26433069183
Status : Answered

Chosen Option : 1

Q.42 3R & I TS FT T94 B o) <1 TS Jen & Nad = # pfie FuAWaR w®

g ®1 guf Ham|
L__LM_L_L_ML

Ans X 1. MMMLL
& 2. MLLML
X 3. LMLLM
X 4. LMMML

Question ID : 26433057729
Status : Answered
Chosen Option : 2

Q.43 47 377 TR | YRY HYb UfdH &1 3R 4 km AISfbe Tamdl ¢ X R a gedi g ok 6
km WTSfa Tardt 81 98 fibe A ¢ gadt § 3R 3vA Toa ugeA & g X km wrsfera
Tard! g1 fig A SUF 7o & SR & 3§ 3R A1y € S WA IR A 2 km G W BIX
BT A 182

Ans X 1.6 km
X 2.8km
% 3.4km
o 4. 2km

Question ID : 26433058022
Status : Answered
Chosen Option : 3




Q44 3 e T 1 90 B3, Fordl &1 1S STy TR & (T 1 oA TR D) |

£
=
=

\

Ans

Question ID : 26433056677

Status : Answered

Chosen Option : 2

Q.45 & TS sRae B R A F AT B-A1 3eR-Tg vy g (2) 1wl sy
RSBG, NPEI, ?, FJKM, BGNO

Ans X 1.JMGK
< 2. JMHL
o 3. JMHK
X 4. INHK

Question ID : 26433067964

Status : Answered

Chosen Option : 4




Q.46 f=ifed & A P10 T=n € 1S g ¥ vy {iE (?) F ®E w e
13, 26, 23, 115, 108, ?
Ans X 1.1881
o 2.1188
% 3.1818
X 4.1118

Question ID : 26433059920
Status : Not Answered
Chosen Option : --

Q.47 I9 WYY HT 904 siforg, e gemt 4t yer Wit 8, e R iy 1T wy=a 9
|G 3T & HaRa &1 .
(FAre: Femadl Y 3ud ues P! A fyurfora fg fomm, gof wemait w wfordta wfeart #
ST Pl 1 ISTEVT & T 13 - TWAT 13 WR Moty Afspand 9 fF signgernAgn
AT 1R BT 13 TR B fobar o1 wpar 8113 B 1 3R 3 A RFvivra e sk e 1 3k 3
R iRt wfpart e $t srgafa T8 21)

(16, 22, 28)
(14, 19, 23)

Ans o7 1. (15,26, 31)
X 2.(17, 24, 41)
X 3. (13,21, 27)
X 4. (12,18, 25)

Question ID : 26433057073
Status : Not Answered
Chosen Option : --




Q.48 oy T7q fasedl H 9 3 AT BT 90 B2, F Fafarad e 3 uy-f0E (o) ST RA d 9hd 31

Y=<l Al D] 7

Ans

x 2.

Question ID : 26433056830

Status : Not Answered

Chosen Option : --

Q.49 i TR erR-Tgel § A N ve i a8 F JuH & 3R TH 3T 81 (e 31eR-
TG T 99 B

Ans X 1.MSN
o 2. QUK
& 3.0UL
X 4.PVK

Question ID : 26433057220

Status : Answered

Chosen Option : 1




Q.50 : faemdf v qareR A & ufia: % B 3R T FIF 98 &1 TWHd, T9vaT S 18 3R
ww%ﬁ%lw e & aTS 3R wmuﬁa'r%w?&w mn%?alﬁaﬁ?
ingaagélﬁﬁ 0T 3R WS I B FApead TSR 81 AN & 1S 3R

T

Ans X1.WHT
X 2.3mom
X 3.
o 4. Tau]

Question ID : 26433056041
Status : Answered
Chosen Option : 4

Section : General Knowledge and General Awareness

Q1 i & A9 3R TS G B/ Frafifed § @ s 9@ gH a8 2122
1. BT3S IS FARTSS - H,Cl
I1. BTGV APTSS - HS,

Ans X 1. %Hdd|
X 2. Faall
X 3.1 3R 11T
o 4. T SRAE N

Question ID : 26433054012
Status : Answered
Chosen Option : 4

Q.2 fpfifEd & § $1H-91 FUIY0 $T T 1R 70 8 St Smadk uR Rigraif ok a=it &t
TG F3T 3, W 3R 5 AT B 39 & gY Y™ P I & AU el 32

Ans .z 1 HIRERGR
X 2. sraRar
X 3. SR AfeTsey
X 4. ffan

Question ID : 26433054116
Status : Answered
Chosen Option : 1

Q3 YRA & ARAY ST P A1 D¢ APUF B THG F G &l 1 HYH 96 Fa 3
IRt UeTH FHaT1 82

Ans 1. 3[JwG 108
X 2. 3¢ 331
X 3. 3= 85
X 4. 3 J=5¢ 105

Question ID : 26433064713
Status : Answered
Chosen Option : 3




Q.4 fgfafea d § fra fyfaenaa 9t wuEr ufsa aea diew Aradiy A 3t dt?
Ans X 1. fae fayfoemer

X 2. Yore fayfaemer
o 3. TR feg fayfaenag
X 4. GeaqR fayfaeme

Question ID : 26433080985
Status : Answered
Chosen Option : 3

Q5 T YT HHIE A HU B ST Wil & = & F9 A e [
Ans X 1.1770

% 2.1750

X 3.1754

o 4.1765

Question ID : 26433074141
Status : Answered
Chosen Option : 2

Q.6 1990 % U fay A1 2w e AR 71 vgan Hvavu Fafifea A 4 fFa RMA W
Smafora fam wa ur?

Ans X 1. 33T WA
o 2. T, Fazdsw
X 3. ST, =g
X 4. AT, TAAfE

Question ID : 26433059420
Status : Not Answered
Chosen Option : ==

Q7 mw&m%ﬁﬁmaﬁaﬂmwﬁsmﬁmWMWaﬁm
old:

Ans X 1. SRfoHaRIT S{ARRIPIA STUR # HRT Akt ¥
X 2. T8 U9 Usiiard sifouawu g
X 3. s Tmfe &1 ey ofiRY b uga
o 4. 3T® TG &1 oy TRIe! d Uga

Question ID : 26433054593
Status : Answered
Chosen Option : 4

Q.8 fyper @d A FrufifRaad & F forw af omRT Y wuTg=T Ft A2
Ans X 1.1499 CE

o 2. 1504 CE
X 3.1508 CE
< 4. 1506 CE

Question ID : 26433082062
Status : Answered
Chosen Option : 3




Q.9 yRiE W1 1g® IWIG AaTSEH @ FHafafed & 4 fog @fia wme & 32
Ans X 1. 9RY

X 2. SY-ufegrer

o 3. TR

7 4. 30

Question ID : 26433055386
Status : Not Answered
Chosen Option : --

Q.10 1856 H, TAR-S-RA 3 e far % agrgRng AW sifaw o are=mg g1 ok
ITP! g F T1¢ 3% bl W 931 B I1gRE F T H Argar g < et - 3% daa
ICPURT & &9 & AT=ar &t st

Ans XLW
X 2. PHaray
o 3. BT
X 4. o

Question ID : 26433064607
Status : Answered
Chosen Option : 1

Q.11 %ﬂﬁzomwmaﬁmﬂ%mﬂ,m%mﬁawﬁmﬁnﬁmmﬂw
?

Ans X 1.3
2.4
X 3.2
X 4.5

Question ID : 26433069895
Status : Not Answered
Chosen Option : --

Q.12 PfafEd § @ - T Ah g 7o & wwifaa 22
Ans 1. Sl

X 2. PUD

X 3. Afogd

X 4. DRt

Question ID : 26433054311
Status : Answered
Chosen Option : 1

Q.13 fFafafead ¥ / F19-a1 Wifae Rigia Jde o4, 9 599 3R RWIY a1 ToaRY gRY
UeT 81 9Td UOUNG 61 URSAT Sl 872

Ans o 1. ged & T & Frm
X 2. SeTae! & faw
X 3. afgswru Rigia
X 4. 518 % fagga g IR & |

Question ID : 26433055748
Status : Answered
Chosen Option : 1




Q.14 gﬁmmmm%mmﬁmam: 3R
I

Ans o 1.5.4 Yfd=Id, 7.6 Ufcerd
X 2. 7.2 yfc=rd, 8.4 ufazra
X 3.7.2 7=, 7.6 Uld=a
7 4. 6.5 fa=rd, 8.1 Ufa=ra

Question ID : 26433054771
Status : Not Answered
Chosen Option : --

Q.15 fmfifEd # & frd e A ue Swiw far man @ % Hifa Frewre Risia =amarea gri
wad-a e &2

Ans 1 3Jwsa 37

X 2. 3= 39

X 3. 3J=¢ 38

X 4. 3T 40

Question ID : 26433069863
Status : Answered
Chosen Option : 1

Q.16 g & & forw 9 & oy Rurea ok Rrarfe & du Ra wifeal i s smar 82
Ans X 1. 4nf
o 2.q1
X 3.
X 4.9¢

Question ID : 26433081916
Status : Answered
Chosen Option : 2

Q.17 3 e A e R FET-PEIIUEAE,_ wead gl
Ans X 1206

X 2. SRuHTEH

o 3.3

< 4. CIsUcdlg

Question ID : 26433064129
Status : Answered
Chosen Option : 2

Q.18 YRd A Ugdl! IR ATSARIT 720 f3y Fu fbdbe Ft Asrari fow adf § i A2
Ans X 1.2018

& 2.2016

% 3.2012

% 4.2014

Question ID : 26433054680
Status : Answered
Chosen Option : 2




Q.19 Jfiprur & I A 7 & A B9 1A FYF TE 22
1. 3O9 e, TraTfore ik yiifere Warsil @ W Acad ik nfafafr &1 fFrafor mnfe

gl
I1. 3T Asfieour ufthar & eyl uRomea ¥ | UH 1
Ans X 1.9 RGN

X 2. %aqd I
o 3.1 3R 1T
X 4. Fad |
Question ID : 26433059309
Status : Answered
Chosen Option : 3
Q.20 TP TTNUHH - THUH TS (NBFC — MFI) & forg goh-afewrer srqura g gl

A X o STHRIRIE! T 8%
v 2. SIRGH HIRd $et uREglrl &7 15%
X 3. IIRGH HIRT S uRuRial &1 11%
X 4. el STHRITRMET BT 15%

Question ID : 26433064103
Status : Not Answered
Chosen Option : --

Q.21 fafifed & @ $ &1 U@ i oo 5 T8 32
Ans X1.1H??ﬂ?IGFRﬂUTCFf

X 2. SgoH wIT uref

X 3. AeHfeRe By urdf

o 4. AT B

Question ID : 26433054093
Status : Answered
Chosen Option : 4

Q.22 T foay garar 2 % fagga uRoy & fadt |ft o a@fY & yarfya g9 aredt artsi &1
T Afy A Frpan areft yRTeH & 41T & SRTeR §iar 872

Ans X 1. TS IIgEA N
X 2. fagex ik &9
% 3. TRHd BRI
o 4. TG XSS s

Question ID : 26433055075
Status : Answered
Chosen Option : 3




Q.23 g & & fora a@ &1 WU HHIG 87 §2
Ans X 1 Tiform

X 2. Jfefeam

o 3. BRE|

4. fafem

Question ID : 26433055765
Status : Not Answered
Chosen Option : --

Q.24 wraaTg B €Y F uRvTAREY 9 | | 5w g5 o1 i gonm ur?
Ans X 1. UHIUA T FRRT I

X 2. fgdig iTd-mRI81 g5

o 3. T RB1 S

X 4 TRRFTIS

Question ID : 26433055634
Status : Answered
Chosen Option : 2

Q25 fre . N AT HAH_ )
Ans X 1. 8¢y 3w fSfEpem

X 2. T SRS sifs T A

X 3.9 315 HIg A8

o 4. T TSI 3t T o Sfea

Question ID : 26433054235
Status : Not Answered
Chosen Option : --

Q.26 fmfiafEd & | HH-11 aRd, AT 3R @few St IHT urgsit #) @i Fhar 32
Ans X 1. Biftd 3

X 2. FARIBIH

< 3. uffew o

o 4. SIS (THT SN

Question ID : 26433054910
Status : Answered
Chosen Option : 4

Q.27 YRR IR arew BR e dRRaT el § @ fra @i wA @ Tt @2
Ans X' 1. gdl

X 2.9
< 3. YTAR-SAR
o 4. F

Question ID : 26433055383
Status : Not Answered
Chosen Option : --




Q.28 fm & Q HI9 AR HU TE /8?2
1. a1 F} 3ifire ur ® g8 W, o gera: sifearss a9 31
II. &R UTg F Gt FA1SS, I T, WMmmﬁﬁ%l

Ans X 1. %Had
o 2. Pad |
X 3. Ad RIS
2 4.1 3R 11 ST

Question ID : 26433054914
Status : Answered
Chosen Option : 2

Q.29 g 3TN 3P Al & d@® B 82
Ans X 1. 3fpUfaAg

X 2. g afest
X 3.9 W
4. for s
Question ID : 26433054279
Status : Not Answered
Chosen Option : --
Q.30 9 wAT il A iR FIRPRI (@RIANT®) gar g, TSSY Pt fidmae &
fore waT fopan simar 81
Ans X' 1. 3D
x 2. fief
X 3. ey
o 4.8
Question ID : 26433054930
Status : Not Answered
Chosen Option : --
Q.31 75df TATHTH (NsS) RO & aR, IS, 57.6% UTIRTT Pt ATSAT AIGRAT T I
1Y, JaQ HH FI&R Afgarsit arer Iy g1
Ans X 1. foER
X 2. FR U
o 3. ISR
% 4. 3ffymew
Question ID : 26433069789
Status : Not Answered
Chosen Option : --
Q.32 g TEWIeR 3TE e P ATHDYT 8, I HE™ TapRI 7 | T /A1
Ans  p 1 GE SI3A
X 2. &R
X 3. S &
X 4. % Bl

Question ID : 26433054239
Status : Not Answered
Chosen Option : --




Q.33 yf¥g EftaeR T SerTass f5a arg-a7 | "e&fia 872
Ans X 1. 9mfed

X 2. dsa

o 3. TRAFTY

X 4. Wi

Question ID : 26433054400
Status : Not Answered
Chosen Option : --

Q.34 it a1 Tyt §, Ugel aR Tad YFATT & TS §, TUdle:
Ans X 1 fdfd g

X 2. e & s

o 3. SISRT 3R B Gobell 3

X 4. 3 g

Question ID : 26433059452
Status : Answered
Chosen Option : 4

Q.35 mz%ozoﬂmﬁwﬂw%wiwmﬁﬁmﬂwwmﬁumﬁﬁm
?

Ans X 1.39d ¢
X 2. g
o 3. Sefiica
X 4. Tydfes

Question ID : 26433054661
Status : Answered
Chosen Option : 2

Q.36 IRRE-U-aR® e} e Tea-d &1 BRAT HTHT o1 3fa8 8, 39 e B 472
Ans X 1. SATER-WL-SATRR

X 2. ARG et

o 3. 1 fo srere Wigd

X 4. G-I

Question ID : 26433099216
Status : Answered
Chosen Option : 2

Q.37 JffRferar 3R FTST 9 WRNd Iufan & Aisd W fafesr qrarsy & v w=rew ar
TARTEA & S1d Y 1905 H HH F Ta I fHa= rm 3@m U1?

Ans X 1 foftm dg o
& 2. T T T
X 3. TTETYTS ARl
X 4. AT AU I

Question ID : 26433094856
Status : Answered
Chosen Option : 2




Q.38 ?ﬁaﬁﬁwwﬁwaﬁmﬁﬁﬁauﬁm%mﬁwmﬁ FHET ATaT
|
Ans X 1. UM
o 2. TR-A
X 3. gHdeH
X 4. Tgglex
Question ID : 26433054042
Status : Answered
Chosen Option : 2
Q.39 PufifEd § @ o1 @ 7t Y v Redfe @ A A v T8 22
Ans X 1. URId @We
o 2. D ©IT
X 3. qdf sredifcs dd We & Wiy SpidT
X 4. WRa-sifar-gsiis we
Question ID : 26433054944
Status : Not Answered

Chosen Option : --

Q.40 =t @} Rrem A Wefla Sifaw IU-uRT (k) 2002 A MRUF FHefaal F TH U & =T A WS

Ans

TS N 59 Iy P GfeurT A & ded e fpar T ATl
X 1. 3g=9G 48A
X 2. 3J®G 32A
X 3. 3 g=E 1A
o 4. 3G 21A

Q.41

Ans

Question ID :
Status :
Chosen Option :

26433054526
Answered
4

Frafafea & @ S19-a1 sy g 32

o 1. XA B sad gt & ot effad & o &t 3R Iad §U ged! § SR ot wmg |
2 Bt 3R W §Y 9 o 8

X 2. TR o snad ARuft & faeht srad & om @t ok Fgd IR fareht Ty A R 3 oiR
S §U UE S 8

X 3. TR Brear srad gRot & ot eifad & ol &t 3R Fad §U SR foreh wg § i &t
31R 1 §U 9 S &1

7 4. 57 Brear emad aruft & el eimad o o @1 3R Sed §U dedl S § R
T ¥ - B 3R W1d g °e S B

Question ID :
Status :
Chosen Option :

26433054023
Answered
1




Q.42 grqd A @ & G §, T 3R BHA S THR BT B AR I AT 282
1. UeTTe - forafe waa
1. 3nfe=m - afrfus waa

Ans g1 TN SRAG
X 2. %ad |
X 3.1 3R 11 ST
X 4 FHaall

Question ID : 26433059216
Status : Answered
Chosen Option : 3

Q.43 YRy AR aIe® U. AARBR &1 YRA 7d A for adf o Jwarf=a fovar war are?
Ans X 1.1995

% 2.1998
o 3. 1999
X 4.199

Question ID : 26433054384
Status : Answered
Chosen Option : 3

Q.44 YRTg IERT P START (1976) 7 AP ATt Y fomat Aforat & affepa fean 32
Ans X 1.4

2.3

X 3.2

X 4.5

Question ID : 26433071623
Status : Not Answered
Chosen Option : --

Q45 fgfafed & & 701 geu argaar & U@ gif & Ui = 42
Ans X 1. iftie THRIET & forg sifdy afeai

& 2. ST & Y STaRiTg ya=

7 3. 3T & HUSR

X 4. Agayuf d & fae ge¢ FAFIR

Question ID : 26433070824
Status : Answered
Chosen Option : 2

Q.46 FPrufifEd & & w1 gregie o1 A3q Tty 82
Ans X 1 difaw

o 2. TI3cTH

X 3. cFfeam

X 4.3EF

Question ID : 26433055086
Status : Answered
Chosen Option : 2




Q.47 Tpufa 31 aREfRRT qur He ok S Prfaa A HaRM s g HRad@t |

yuTRd fPT oma &
o 1. Tfaa A
X 2. TR (A
X 3. Uradmad MY
X 4. d® A DY

Ans

Question ID :
Status :
Chosen Option :

26433069864
Answered
1

Q.48 Hifdrs weder W AN & &
o 1. ARSI

X 2. WHR

7 3. oy dsa

X 4.7

Ans

Question ID :
Status :
Chosen Option :

26433069890
Answered
1

Q.49 P91 AiHTd 41 g SR AfRURR & e oW g &1 qxfar 82

Ans X 1. YTl
o 2. Sifea I
X 3. Hraaferan
X 4. Jeten

Question ID :
Status :
Chosen Option :

26433054259
Answered
2

Q.50 Iwrpfeddi HSEER a & oy & Frafrad § @ 19 @ fadrvar a8 78 82
& 1. 37 a0 B e T TIHT 100 om v gl B

X 2.3 39T 3R 3% &3 | UIE 1 § 1

X 3. 3794 T USl B g 60 m T 3T 31 B B

X 4. A9 3B R W WP 8 5

Ans

Question ID :
Status :
Chosen Option :

26433071622
Answered
1

Section : Quantitative Aptitude




Q.1 HURM: 10 cm, 8 cm 3R 6 cm BT AT g & A Ml T FgATHR 12 ecm B FTTH
B P TR 14T 8 | (P BT ap YEIT &% F1d BT, St g=1AAd & & R a6
T8 (1 = 3.14 AT

AnS X1 1669.86 cm?

¥ 2 1864.41 cm?

X 3. 1876.79 cm?

X4 1664.50 cm?

Question ID : 26433075532
Status : Not Answered
Chosen Option : --

Q.2 7 8764x5 T Vit W= & oY 9 A faursy B, At x &1 <Ay wynfad 7= ia Bivrg, wigt
xﬁaﬁffﬂﬁﬂ'@ﬂ%l

Ans X 1.18
X 2.14
o 3.15
X 4.06

Question ID : 26433058123
Status : Answered
Chosen Option : 3

Q.3 gfg H=T 6336633P, 132 §RIT AU &, Y P BT 719 T RI?
Ans X 1.2

X 23
3.6
X4 4

Question ID : 26433061121
Status : Answered
Chosen Option : 3

Q4 HFATef@d GHT F gl DITaIv]

Asee (IBIIR?) + 2 of 10 +(i)=

2 %18 " \72x22
Ans o 1.443
X 2. 401
* 3.356

X 4.256

Question ID : 26433061296
Status : Not Answered
Chosen Option : --




O & s T R et B ST T R e §

Ans

Q.6

Ans

3 T ATH | IS T der | Afgensit & gen
A 1500 1220
B 1460 1320
C 1105 1180
D 1305 1170

Tl amat 7 qew AR Afgerat Hr FEA F AT A Hiw)

< 1.163:179
X 2.537:389
X 3.389:537
o 4.179:163

Question ID :
Status :

Chosen Option :

26433061741

Not Attempted and
Marked For Review

B Uiy sumal & Se o FufiRad &1 o 1 g

sin A

o l4cosA

1+cos A
X 1.2sinA

X 2.2cos A
o# 3.2 cosec A
X 4.2secA

sin A

Question ID : 26433061931
Status : Answered

Q7 G aifeer Rrow 5 9% & Ru o1v ofT Rl IR ST AT oraw T e ¥

Ans

a¥| 2021 2020 2019 2018 2017

R

A 1 0 1 0 1
B 1 0 2 1 1
cC 1 2 0 0 1
D 0 0 1 1 0
E 0 1 1 0 1
TEifes ode e ame?

X 1.cC

X 2.A

" 3.B

X 4E

Chosen Option : 1

Question ID : 26433079963
Status : Answered

Chosen Option : 3




Q.8 TS gd P! TP Sila1 STPI 9 cm WS I FISUT S TRIeR 1 7P §RI Y g Gs § Sfalka
Eaukickaiciyl
Ans X 1.120°

X 2.60°
% 3.90°
o 4.30°

Question ID : 26433061756
Status : Answered
Chosen Option : 2

Q.9 3} fiS Ft ara $T 3guTd 2 : 3 81 T 50 m B & T HIA A T UG BT 3R 10 VS ¢,
A I T A SR {1 P

Ans 1 3
X 1. — m/sec
9
5 i
o 2. 5 m/sec
7 ;
X3 - m'sec
5
& |
X 4. — misec
5

Question ID : 26433063795
Status : Not Answered
Chosen Option : --

Q10 gf a2 +b2+1=2a8, Wat+b’ FIAFAFTE?
Ans X 1.2

X 20

& 3.1

X 4.4

Question ID : 26433072985
Status : Not Answered
Chosen Option : --

Q.11 95 WaH TST YT YU HI A1 § R 554, 714 3R 213 F) FuTa 737 R A=mwa
HI: 43, 57 3R 67 UTW B &2
Ans @ 1.73
X295
X 3.83

X 4.71

Question ID : 26433064882
Status : Answered
Chosen Option : 1




Q.12 AB HU & It § TH a9 & 91 10% B If g3, 3R 3Tt aof & 229% &1 9fS g3

Ans

Q.13

Ans

R ad & 3w 5% @1 33 g5 | ga It A i autf A It A T guy

gomg?
X 1.415%

X 2.412%
o 3.40.9%
X 4.42.8%

uﬁx+§—1{ =2%,?-|’rx4+xi4 T AT

X 1.0
X 2.1
3.2
X 4.1

(% #)

Question ID : 26433058784
Status : Answered
Chosen Option : 3

gl

Question ID : 26433066410
Status : Answered
Chosen Option : 3

Q.14 gy X, Y, Z IR W aguigura A &1 X = 3, Y = 13 3R W = 39 §, @) Z &1 |19 1d STl

Ans

1.9
X 2.5
2 3.20
X 4.15

Question ID : 26433071323
Status : Answered
Chosen Option : 1

Q.15 T 3MeHt 24 m gd Bt 3R 3R fBT 10 m ITR B 3R a1 81 98 o+t urfue fRufa &

Ans

fraft g 2
X 1.23m

& 2.26m
X 3.24m
X 4.25m

Question ID : 26433066371
Status : Answered
Chosen Option : 2




" R v g7 & Srae @ AB €, X # AR A9 A

C
50°
A e B

D
Ans X 1. 20°
X2 50°
X3 30°
V4 400

Status : Not Answered
Chosen Option : --

| Question ID : 26433079797
|
L

Q17 yfve fawet F 6 ot gaRT So A 3@ AR R e ¥
g faww & e sfeam 3w arfesr d gane =i §)

g | #igw @t =y sEier | 3 | sfoem
o ICEICH
AfFam

il 80 150 100 75 120 50
P 70 44 88 88 70 38
Q 20 40 54 a2 65 40
R 85 32 70 64 55 30
s 75 70 58 80 60 35
T 65 60 45 88 50 42
u 60 50 60 72 25 48

B Q g sifos e i 6 & wea 3w 3w, @i 3k sfaew F o9 T @@ W 3
¥ @ Frow i (Rereaw qofler o Toiifee) aifte &7
Ans 4 1.45
X 2.49
< 3.38
X 4.56

Question ID : 26433075819
Status : Not Answered
Chosen Option : --



Q.18 Uep qr=g Ja Pt Breur Fa1 gRN et $ams 21 cm 3R T YEi &% 1386 cm? 82

Ans

X 1.35cm
K 2. 7cm
X 3.10cm
" 4.10.5cm

Question ID : 26433058254
Status : Answered
Chosen Option : 4

Q.19 TS HMER AU TG B TP GITY0l aRTS] FT IUART HIF A9l 8 S 25% HH drerdm
21 fthe a7 3rueht axgan W v geu | 15% 3iftw geu Sifhd a1 81 afe a8 10% F ge
ff T B, @ 1 kg TGS W ITPT Y ATH ufa=ra 1 Fifore)

Ans

X 1.32%
X 2. 44%
X 3.41%
o 4.38%

Question ID : 26433075944
Status : Not Answered
Chosen Option : --

Q20 e arfeET 1 aewEw BT T 37F T A BT aU guw w1 39T A

Ans

T F A | AAISS Reatiat | A Rt ar aftee | s fee #r gee e ot
T TET forgiet she R & o1 | 3l ot @ e

A 900 30 7:8

B 400 36 9:10

G 1000 24 5:19

D 800 18 Eid

5o B 3t TEe D # g e & 99 A Rt & gem & e 7 S

X1 1:4

2 1:1
0 00 2

vaCa R |

Question ID : 26433076213
Status : Answered
Chosen Option : 4

Q.21 TH JWRATHE $o 79 God W 5% Fe 3R Rs.10,000 A s F} et W 1% &1 a9
Sfofa wvar 31 9fe 98 Rs.1,990 3ifsfa war 8, @Y o fassa gea 7 @2

Ans

#< 1.Rs.14,000
" 2. Rs.34,000
/< 3.Rs.16,000
#< 4.Rs.24,000

Question ID : 26433073109
Status : Not Answered
Chosen Option : --




Q.22 60 3TeHt TH HTH FI 40 fa & T X TP 81 3 TP 1Y ST AT = Hd @ Afp
W 10 & 31¢ 5 3netht &1 B 3 81 B fra A & R 8 wrwm?

Ans X 1.455
X 2.425
X 3.49.5
o 4.475

Question ID : 26433075103
Status : Not Answered
Chosen Option : --

Q.23 T I 3R TP g 1 F1AA 9 : 5 F UTd F §1 Te B FAT 3¢ Bt ST I Rs.380
3fe 71 g $ Faa gra we

Ans X 1.Rs.470
o 2.Rs475
X 3.Rs.485
% 4.Rs.480

Question ID : 26433064968
Status : Answered
Chosen Option : 2

Q24 fgfifiad us o 2011 3R 2012 T B8 N HUFET & el &1 {51 @R G H) s gl

2011 3T 2012 & og Hofrar F wHed
= 1 f&Hr
m2011 m2012

24
=
=

0 T O
T AT
T TITTWE o

2012 HHUMEl B 2R D B AT 6B, 2011 H BT A 2R E B 2104 fFp] &1 b ufaed g2
Ans X 1. 65.89%

o 2. 74.36%
2 3.70.89%
X 4.72.87%

Question ID : 26433064946
Status : Not Answered
Chosen Option : --

Q.25 s a¥g @1 PIAd § Ugd 25% $I IS Ft A1l 7 3R 91 F fAep) we oM & FROT SHST
Pd | 30% B H P A1 F1 I b 3ifow gor A [ 9fS a1 it @ w0

Ans X 1.115% (G
o 2. 12.5% PH!
X 3.13% gfa
X 4.14% FHH

Question ID : 26433061246
Status : Answered
Chosen Option : 2




Q.26 3ro1g 290 H 18 Ha WRIGAT § MY 15 Ta¥ 2105 H IIAT ¢ | SHP WY PT Ui J1d P |
Ans o, apop

v 2. 40%

X3 30%

x4 25%

Question ID : 26433063398
Status : Answered
Chosen Option : 2

Q.27 frrifea e frdt oiten & o Bea-Rea gl # og ot ¥ g (afded §) @ s §
weiw R & sffeas 3 100 F

o o
dow (C5) | TS | we fEe | ae sfoera Caic
A 95 65 90 70 70 80
B 90 70 75 75 85 85
o 80 80 65 70 90 95
D 85 90 85 75 20 95
E 80 95 95 85 90 95
F 90 90 90 95 90 90

arfer T wreia i@ g &1 39t S

et frw Rvw & war g v 37
Ans X 1. 3fdg™

X 2. 9Ty (Cs)

L d

X 4. 9 g

Question ID : 26433074466
Status : Not Answered
Chosen Option : --

Q28 T=ef@a 3t & s3egas F1 3t 5= G o 1w e &= 391 4

EL 2016 2017 2018 2019 2020
FOAr # | 30 20 25 15 10
% W

IfE FIAT FT =0T 35 ¥ H 750 T o7 F FTF A Fiaed 3==aH

AT, T FIAT F AFTT FAT AT?

Ans X1 70 W
v 2 ¥65 oW
X 3. 360 omE
X 4 55 @M@

Question ID : 26433080245
Status : Not Answered
Chosen Option : --



Q.29 TH gHM A TH HHIT $I FIAd 2700 7, BT w @t mgdt & 1T 10% 3t ge Suasy 71
aoq FHA aTd AEd! & g sfafvad 20% 3t ge 71 afe ues Twe § Yam

Ans

PAT ¢ O I B & forg fpat MR ST Y= H=AT1 g2

X 1.3523
o 2.3504
X 3.3514
X 4.%432

Q.30 PufifEd afte ot ga PRI

Ans

Q.31 25, 30, 50 3R 75 HT AYTH AU (LCM) FTd BT

Ans

(73-72+6)x (63-2%-32+ 1) + (212 + 202 - 41) =
X 1.50
X 2.40
X 3.25
o 4.75

o 1. 150
X 2.150
X 3.75

X 4.150

Question ID : 26433058791
Status : Answered
Chosen Option : 2

Question ID : 26433061297
Status : Not Answered
Chosen Option : --

Question ID : 26433063993
Status : Answered
Chosen Option : 1

Q.32 s ¢ gRATuN A AR 96 60 km/h B ST e A SITdT 81 T | 30 9 @G 1 T8
SER | gRaTn ¥ e I TSE W 40 km/h F 3T T | Aiedt 31 R B B SR

Ans

TP B 3iIa arat T A2
7< 1.60 km/h

o 2. 48 km/h
2 3.50 km/h
< 4.40 km/h

Question ID : 26433056868
Status : Answered
Chosen Option : 2




e b RYITARa+b+c=0B AL+ X4 < 1AM I BT
Ans X 1 4
s2 3
x>
2
X411

Question ID : 26433061775
Status : Answered
Chosen Option : 2

Q.34 §i = P, Q, R T% JATPR & W HHT: 3 km/h, 4 km/h, 6 km/h B T7d0 A Qe 71 afe
P B TaTS 36 km 8, A1 3 TR A YR g W fram wwy arg fArde

Ans X 1. 2442
o 2. 36T
X 3. 28%C
X 4. 384

Question ID : 26433061171
Status : Answered
Chosen Option : 2

a3 E]ﬁcosfl+cosB+cosC=B,ﬂjfsinfl+sin8+sin6' WT-THEFIH%?
Ans X 1.2

2.0

X 3.1

X 4. -1

Question ID : 26433058985
Status : Not Answered
Chosen Option : --

Q.36 108, 72 37 5a BT I=AH ATH UHTES # a. 108, 72 3N a BT AYTH TATIG 4T g1
THa1 82
Ans X 1.108

o 2.216
X 3.324
X 4.432

Question ID : 26433066163
Status : Not Answered
Chosen Option : --




Q.37

Ans

Q.38

Ans

Q.39

Ans
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Question ID : 26433075105
Status : Not Answered
Chosen Option : --

Question ID : 26433065032
Status : Answered
Chosen Option : 3

12 cm =01 9@ 99 WR o1a g A @ T st Yar S o 71 afe st Y ot d@erd 5

cm%,?hﬁa?ﬁ’_iﬁﬁg%'ﬂﬁ{ﬂﬁﬁ:ﬁ%?
X 1.17cm

" 2.13cm
X 3.7cm
< 4.9cm

Question ID : 26433058427
Status : Answered
Chosen Option : 1




Q.40 TfS cosecA + cotA = m §, Tl cosecA — cotA BT HIF T G2
Ans 1

w1
Imn

X2 y\m
X3 m
X4 m2

Question ID : 26433062687
Status : Answered
Chosen Option : 1

Q.41 T% g9 BT &% d 1,386 cm? 31 g 3t B qm ghft? [ =227
Ans X 1.14cm

" 2.21cm
X 3.7cm
X 4.18 cm

Question ID : 26433061285
Status : Answered
Chosen Option : 2

—_————

Q.42 TH B A 3 74, A, B 3N C 1 &1 A <Y DI HHTT: 10 He, 20 e 3R 25 G H WX Toba &l
IR= B i1 A U 1Y G 91 81 2 92 F 91G 7 C B &g B AT A1 8 SR A 3R B
DI I1E QT W11 21 4 ¢ & 918 7d B H1 WY §g o= a1 911 31 AW Tt B 9 A gRT
3P HRT WA 81 T A GRT 3rbd fT ¢ Hrd &1 wia=ra 1 a3

Ans  # 1.72%
X 2.52%
< 3.32%
X 4.75%

Question ID : 26433075277
Status : Not Answered
Chosen Option : --

A S aifee Row 5 a¥ & %l @ ST 7T oaF $ AT T2 B

aw| 2021 2020 2019 2018 2017
Ex ey
A 1 0 2 1 1
B 1 2 0 0 1
C 0 0 1 1 0
D 0 1 1 0 1
E 1 0 1 0 1

TR oo BT g€ F §97 9T 9
Ans X 1.2018

o 2.2019
X 3.2021
< 4.2020

Question ID : 26433079964
Status : Not Answered
Chosen Option : --




Q.44 7f Rs. 7,500 B RN Tehafx AT W 8% Ul af Ft &= A 1.5 af F forg =z it ot B,
wafes s sidarfie wu A awgfes farar wrar 2, @t frgem wma sifse)

Ans X 1.Rs.8,564.48
X 2.Rs.8,736.48
" 3. Rs.8,436.48
< 4.Rs.8,657.48

Question ID : 26433063791
Status : Not Answered
Chosen Option : --

Q.45 gfe& Cos 6 + Sin 8 = 2 Cos 8 §, d (cos 8 - Sin8) T HI JTd BITTI
Ans X 1. 4\/2 cos @

x 2 % Cos g
X3 — Sin @
V2

¢4 /2 Sin @

Question ID : 26433061763
Status : Answered
Chosen Option : 3

Q.46 Uw i HSR F1 aTs, SHP! NSTS A 5 AT 3R HATS 8 m 1 IP! IR EART (Garsit
i) BT &%d 720 m? B 1 M YSR &1 Wyl gty g ra Bifvrg|

Ans w1 12825 m?
X2 126525 m?
X3 1200.6 m?

X4 12753 m?

Question ID : 26433075534
Status : Not Answered
Chosen Option : --

Q.47 T AT YT P AT A, Th PR U HIT BT 200 km P 3 4§ H 90 Bl 8, TGP
U UTT B 162 km Bt g31, 15 m/s BT I1A | T Hal 51 Sifaw yTT Ft v g A 4
e ¥ 59 TR a9 $7 3t fr T amn & R R 3t 3iaa 91et 50 km/h @Y TS 1 AT F
TR URT # SR F =re Far A2

Ans X 1. 52km/h
o 2. 47 km/h
X 3. 45km/h
X 4. 42 km/h

Question ID : 26433063347
Status : Not Answered
Chosen Option : --




Q.48 MY 3N Rra Ft AR 3T 1 : 2 F SJuUTa § § 3R TS ARG T 1: 3 F U A B
Tfe U Ui U1 24,000 B g9 FaT &, a1 FR1a B TRy 3ma J1a HY

Ans X 1. 18,000
% 2. 20,000
x 3 %14,000
v+ %16,000

Question ID : 26433063406
Status : Not Answered
Chosen Option : --

Q.49 UiT 3] P 98 91 A 7S T&I B A R S 13, 15, 18 3R 21 A AU @2
Ans . 1.98280

X 2. 96840
< 3.99120
X 4.95830

Question ID : 26433064888
Status : Not Answered
Chosen Option : --

Q.50 15 TRYOTAY BT 3MEd 21 81 TR 9§ Ugd 7 BT 319d 21 € 3R 3ifaw 7 &1 ity 20 1 8ai
f¥omH w82
Ans # 1.28
X 2.31
X 3.22

X 4.25

Question ID : 26433074264
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 Select the most appropriate synonym of the given word.
Peculiar

Ans X 1. Perplexed
5 2. Customary
«# 3. Unusual
& 4. Proven

Question ID : 26433059521
Status : Answered
Chosen Option : 2




Q.2 Select the most appropriate meaning of the given idiom.

Ans

To be on thin ice

< 1. To be in faulty situation
4 2. To be in a risky situation
X 3. To be in limited scope

25 4. To be in marginalised situation

Question ID : 26433073649
Status : Answered
Chosen Option : 2

Q.3 The following sentence has been split into four segments. Identify the segment that

Ans

Q.4

Ans

Q.5

Ans

contains a grammatical error.

As is usual with stories of this genre, / in spite of their varying socio political realities,
| the youngsters have fallen in love / with each other madly.

«" 1. As is usual with stories of this genre
25 2. with each other madly
X 3. in spite of their varying socio political realities

< 4. the youngsters have fallen in love

Question ID : 26433055587
Status : Not Answered
Chosen Option : --

Identify the INCORRECTLY spelt word in the given sentence.

Because of some inevitable circamstances, the conference was postponed indefinite,
indefinitely but the members could not be informed.

< 1. Conference
& 2. Indefinite
25 3. Inevitable

+" 4. Circamstances

Question ID : 26433059719
Status : Answered
Chosen Option : 4

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The research fellow defended / his thesis scholarly / and obtained the degree.

«” 1. his thesis scholarly

#< 2. The research fellow defended
& 3. No error

/5 4. and obtained the degree

Question ID : 26433060135
Status : Not Answered
Chosen Option : --




Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

| will be gone to buy a cupboard which will fit under the stairs.
Ans X 1.am going to buying
2 2. will be buy
25 3. will going to buy
" 4. am going to buy

Question ID : 26433060274
Status : Answered
Chosen Option : 4

Q.7 Select the correct meaning of the idiom in bold and italics.
Our hearts go out to the families of the victims of this terrible tragedy.

Ans X 1. Well wishes for a deceased person
25 2. To wish for things does not yield to anything
/< 3. To receive or express praise for a job well done

«” 4. To feel sympathy for someone when they are distressed

Question ID : 26433059661
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.
Intense
Ans 1. Faint
X 2. Regular
< 3. Rough
& 4. Stationary

Question ID : 26433088270
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

| am sure you can win the match if you try hardly.
Ans ¢ 1.if you try hard

X 2. if you will try hardly
5 3. if you are trying hardly
X 4. if you trying hard

Question ID : 26433060277
Status : Answered
Chosen Option : 1




Q.10 Select the most appropriate meaning of the given idiom.

A lot on one’s plate
Ans X 1.Toeatalot

#5 2. To have a serious ailment
«" 3. Alotto do

/5 4. To serve all dishes on one plate

Question ID : 26433059529
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate meaning of the underlined idiom.
In the movie ‘Encanto’, the family thought Bruno was a black sheep.

Ans X 1. Unrelated to the family
X 2. Unloved by the family
«# 3. Disgrace for the family
X 4. Danger to the family

Question ID : 26433060187
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate meaning of the underlined segment in the given sentence.
Ms. Tina could finish the assignment by Friday - at a push, Wednesday.

Ans X 1.try very hard to do something, usually something nice
25 2. using whatever methods are necessary
25 3. make more of an effort

«" 4. probably possible, but it will be difficult

Question ID : 26433059817
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate meaning of the given idiom.
Toffee-nosed

Ans X 1. A solid, respectable and respected member of society
25 2. A person who seems impolite/of low education at first, but who is usually of good
character

+«#" 3. A person who thinks he is of a high social class and looks down on people of lower
class

& 4. Continue to live at the same social standard we have lived at, even though we have
money problems

Question ID : 26433060461
Status : Not Answered
Chosen Option : --

Q.14 Substitute one word for the italicised expression.
When her teacher calls her a person who cannot be corrected, she laughs at herself.

Ans X 1. obedient
25 2. manageable
4 3. incorrigible
& 4. reformable

Question ID : 26433059630
Status : Not Answered
Chosen Option : --




Q.15 Select the most appropriate ANTONYM of the given word.
Separable
Ans  # 1. Indivisible
#< 2. Branched
X 3. Judicious
5 4. Liable

Question ID : 26433089061
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate synonym of the given word.
Contrary

Ans X 1. Straight
X 2. Wobbly
«” 3. Opposite
X 4. Crooked

Question ID : 26433066107
Status : Not Answered
Chosen Option : --

Q.17 ldentify the INCORRECTLY spelt word in the given sentence.

Food spoliage refers to an irreversible modification in which food becomes inedible or
its quality is compromised.

Ans  # 1.spoliage
25 2. modification
X 3. inedible
& 4. irreversible

Question ID : 26433059976
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate synonym to replace the italicised word.
If you feel good, then you will portray that attitude and look fabulous no matter what!

Ans X 1.garble
X 2. distort
< 3. falsify
" 4. depict

Question ID : 26433059643
Status : Not Answered
Chosen Option : --




Q.19 Select the most appropriate meaning of the underlined idiom.
He is in high spirits today.
Ans  # 1. Cheerful
#< 2. Drunk
2 3. Annoying
/5 4. Disturbed

Question ID : 26433088276
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate meaning of the given idiom.

A lame excuse
Ans X 1.No excuse

75 2. Explanation
/< 3. Strong excuse
«" 4. Weak excuse

Question ID : 26433060120
Status : Answered
Chosen Option : 4

Q.21 Select the option that can be used as a one-word substitute for the given group of
words.

To become a strong person in spite of many difficulties.
Ans X 1. Anxious
X 2. Triggered
< 3. Safe
" 4. Resilient

Question ID : 26433060099
Status : Answered
Chosen Option : 4

Q.22 Select the INCORRECTLY spelt word
Ans X 1. Knowing

5 2. Cooking
" 3. Liveing
25 4. Loving

Question ID : 26433060231
Status : Answered
Chosen Option : 1




Q.23 Select the most appropriate meaning of the given idiom.
A slap on the wrist
Ans  # 1. A very mild punishment.
X 2. Suggest something secretly.
2 3. Punishment to an innocent.

/5 4. Beating someone too much on the wrist.

Question ID : 26433073204
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

| always encouraging people to read books which | have enjoyed reading myself.
Ans X 1.encouraged people read books
& 2. am encouraged people reading books
«” 3. encourage people to read books

25 4. encourage people to be reading books

Question ID : 26433060268
Status : Answered
Chosen Option : 3

Q.25 Identify the sentence that correctly uses the indefinite article.
Ans X 1.In big city like Mumbai, we see a lot of rubbish being thrown from households and
factories.
+«" 2. In a big city like Mumbai, we see a lot of rubbish being thrown from households and
factories.
25 3. In a big city like Mumbai, we see an lot of rubbish being thrown from households and
factories.
2 4. In an big city like Mumbai, we see lot of rubbish being thrown from households and
factories.

Question ID : 26433059558
Status : Answered
Chosen Option : 1

Q.26 Select the most appropriate ANTONYM of the underlined word in the given sentence.

He leaves behind an indelible contribution to the financial world.
Ans X 1. futile
X 2. durable
«" 3. temporary

X 4. solitary

Question ID : 26433092308
Status : Answered
Chosen Option : 1




Q.27

Ans

Q.28

Ans

Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.
What exactly is your problem with me?

1. definitely is your
X 2. entirely is your
X 3. finally is your

" 4. No improvement required

Question ID : 26433060765
Status : Answered
Chosen Option : 1

Read the given sentence and select the most appropriate ANTONYM of the word
‘Dilemma’ from the following options.

The solutions given for the frequently asked questions were written so poorly that the
buyers disliked the products.

X 1. frequently
«# 2. solution

< 3. disliked

5 4. poorly

Question ID : 26433089725
Status : Answered
Chosen Option : 4

Q.29 Select the most appropriate option that can substitute the underlined word in the

Ans

given sentence.

None of the countries involved in war were ready to broach the issue of retreat.

+" 1. bring up for discussion
& 2. disregard contemptuously
25 3. underestimate the worth of

25 4. turn down thoughtlessly

Question ID : 26433070497
Status : Not Answered
Chosen Option : --

Q.30 Select the most appropriate ANTONYM of the given word.

Ans

Pensive
#< 1. Hollow

«" 2. Unreflective
25 3. Frivolous
5 4. Goofy

Question ID : 26433089386
Status : Not Answered
Chosen Option : --




Q.31 Select the INCORRECTLY spelt word.

Ans X 1. llliterate
5 2. Elementary
X 3. Alliterate

" 4. Alimentery

Question ID : 26433060473
Status : Answered
Chosen Option : 4

Q.32 Select the option that can be used as a one-word substitute for the given group of

words.
A large group of people
Ans 1. Horde
& 2. Flock
< 3. Herd
#< 4. Convocation

Question ID : 26433060351
Status : Answered
Chosen Option : 2

Q.33 Select the most appropriate idiom for the underlined segment in the given sentence.

The evidence put forward could not confirm his guilt.

Ans X 1. Break down
¥ 2. Bear up
25 3. Bring up
< 4. Blow off

Q.34 Select the most appropriate synonym of the given word.

Penchant
Ans o 1. Liking
/5 2. Bitterness
2 3. Disliking
2 4. Sourness

Question ID : 26433072862
Status : Answered
Chosen Option : 3

Question ID : 26433071833
Status : Not Answered
Chosen Option : --




Q.35 Select the most appropriate synonym of the given word.

Cogent
Ans X 1.Insane
< 2. Coward
" 3. Rational
4. Tyrannical

Question ID : 26433058326
Status : Not Answered
Chosen Option : --

Q.36 Read the given sentence and select the most appropriate ANTONYM of the word ‘Sane’
from the following options.

We started the day by going on a crazy ride, then we had a delicious lunch and then
beautiful sightseeing to end the evening.

Ans X 1.end
25 2. delicious

¥ 3. crazy
25 4. beautiful

Question ID : 26433089728
Status : Answered
Chosen Option : 2

Q.37 Select the INCORRECTLY spelt word.
Ans X 1.Square

4" 2. Colomn
X 3. Peace
& 4. Scale

Question ID : 26433060423
Status : Answered
Chosen Option : 2

Q.38 Select the option that can be used as a one-word substitute for the given group of
words.

Person living at the same time

Ans X 1. Connoisseur
X 2. Cosmopolitan
" 3. Contemporary
25 4. Coquette

Question ID : 26433059707
Status : Answered
Chosen Option : 3




Q.39

Ans

Select the most appropriate ANTONYM of the given word.

Vigorous
< 1. Robust

#< 2. Buoyant
& 3. Sturdy
o 4. Frail

Question ID : 26433060693
Status : Answered
Chosen Option : 3

Q.40 Select the most appropriate option that can substitute the underlined segment in the

Ans

Q.41
Ans

given sentence.

She has let herself be gone after her divorce.
25 1. let herself gone

& 2. lethergoin
«” 3. let herself go

X 4. let herself going

Question ID : 26433060945
Status : Answered
Chosen Option : 1

Comprehension:

Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 41
What is the tone of the passage?
< 1. Dejected

o” 2. Informative
5 3. Authoritative

< 4. Anxious

Question ID : 26433090479
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 42

Q.42 Select an appropriate title for the passage.

Ans

#5 1. Stress and Relief
/< 2. Life and Stress
«” 3. Stress and its Consequences

5 4. Levels of Stress in Different Age Groups

Question ID : 26433090478
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 43

Q.43 Which situation does NOT lead to stress?

Ans

«# 1. Finding a penny on the ground
/< 2. Losing a toy as a child
< 3. Giving exams as a teenager

#5 4. Loss of job as an adult

Question ID : 26433090480
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 44

Q.44 Select the most appropriate ANTONYM of ‘success’ from the passage.

Ans

«# 1. Failure
< 2. Default
75 3. Neglect
5 4. Laxity

Question ID : 26433090482
Status : Not Answered
Chosen Option : --




Q.45
Ans

Q.46
Ans

Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, such as muscle tension in
various parts of the body, palpitation and high blood pressure, indigestion, and hyperacidity.
Ultimately, the result is self-destructive behaviour such as eating and drinking too much,
smoking excessively, relying on tranquilisers. There are other signs of stress such as
trembling, shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.
The professional under stress behaves as if he is a perfectionist. It leads to depression,
lethargy, and weakness. Periodic mood shifts also indicate the stress status of the students,
executives, and professionals.

SubQuestion No : 45
What does excessive stress NOT result in?
#5 1. Indigestion

/< 2. Palpitation
¥ 3. Relaxation
5 4. Hypertension

Question ID : 26433090481
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1) progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2) gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3) , women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women'’s rights. The coronavirus outbreak (4) existing
inequalities for women and girls across every sphere — from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women'’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5) of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.
SubQuestion No : 46
Select the most appropriate option to fill blank 1.

¥ 1. has been

& 2. are

& 3is

5 4. were

Question ID : 26433060249
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1) progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2) gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3) , women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women'’s rights. The coronavirus outbreak (4) existing
inequalities for women and girls across every sphere — from health and the economy to
security and social protection.WWomen play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women'’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5) of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 47
Q.47 Select the most appropriate option to fill blank 2.
Ans  «# 1.advance

25 2. hinder
5 3. impede

< 4. retract

Question ID : 26433060250
Status : Answered
Chosen Option : 3

—— —

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1) progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2) gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3) , women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women'’s rights. The coronavirus outbreak (4) existing
inequalities for women and girls across every sphere — from health and the economy to
security and social protection.WWomen play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women'’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5) of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 48
Q.48 Select the most appropriate option to fill blank 3.
Ans X 1. limited

& 2. rare
5 3. narrow

o 4. pervasive

Question ID : 26433060251
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1) progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2) gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3) , women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women'’s rights. The coronavirus outbreak (4) existing
inequalities for women and girls across every sphere — from health and the economy to
security and social protection.Women play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women'’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5) of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 49
Q.49 Select the most appropriate option to fill blank 4.
Ans X 1.aid

o 2. exacerbates
£ 3. placate

5 4. appease

Question ID : 26433060252
Status : Not Answered
Chosen Option : --

—— —

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Gender equality is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world. There (1) progress over the last
decades: More girls are going to school, fewer girls are forced into early marriage, more
women are serving in parliament and positions of leadership, and laws are being reformed to
(2) gender equality. Despite these gains, many challenges remain: discriminatory
laws and social norms remain (3) , women continue to be underrepresented at all
levels of political leadership, and 1 in 5 women and girls between the ages of 15 and 49 report
experiencing physical or sexual violence by an intimate partner within a 12-month period. The
effects of the COVID-19 pandemic could reverse the limited progress that has been made on
gender equality and women'’s rights. The coronavirus outbreak (4) existing
inequalities for women and girls across every sphere — from health and the economy to
security and social protection.WWomen play a disproportionate role in responding to the virus,
including as frontline healthcare workers and carers at home. Women'’s unpaid care work has
increased significantly as a result of school closures and the increased needs of older people.
Women are also harder hit by the economic (5) of COVID-19, as they
disproportionately work in insecure labour markets. Nearly 60 per cent of women work in the
informal economy, which puts them at greater risk of falling into poverty.

SubQuestion No : 50
Q.50 Select the most appropriate option to fill blank 5.
Ans  * 1.impacts

£ 2. frivolity
5 3. paltriness

< 4. impertinence

Question ID : 26433060253
Status : Answered
Chosen Option : 1






